UNIVERSAL

Thursday’s Solution

Sudoku Puzzle

[SOLUTION:

1

Complete the grid so that every row, column and 3x3 box
contains every digit from 1 to 9 inclusively.
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To order Universal Sudoku Puzzle send check
or money order for $9.95 plus $3.95 postage and
handling ($13.20 total, US funds only) for the first
5 6 volume, $1.50 p&H for each additional volume, pay-
able to Universal Press Syndicate. Send to Universal
Press Syndicate, Attn: SUDOKU, 4520 Main St.,
Kansas City, MO 64111 or call toll-free 1-800-255-

3 1 8 9 6734, ext. 6613.

DIFFICULTY RATING: % % % % % Order online at upuzzles.com.
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